YouGov: St. Patrick's Day Question

3/11 - saint patricks day

Which of the following is the MOST correct abbreviation for Saint Patrick’s Day?
Age (6-way) 18-24 / 25-34 / 35-44 [ 45-54 [ 55-64 [ 65+

3/11 - saint patricks day

St. Paddy’s Day
St. Patty’s Day
Don’t know

Unweighted N

Weight

US Adults 18-24 25-34
29% 13% 17%
49% 64% 63%
22% 23% 20%
16932 376 1495

Weight: Residents of the USA aged 18+

35-44
23%
56%
21%
2070

45-54
25%
53%
22%
2391

55-64
33%
46%
21%
4044

65+
41%
34%
25%
6556



Heritage [Unprompted]

England
39%
42%
18%
1533

Ireland
39%
47%
14%
2074

Northern

Ireland
44%
43%
13%
325

Scotland
41%
40%
19%
1234

Wales
38%
45%
16%
469



